Worksheet: Azar: Fundamentals of English Grammar, 3rd ed. Charts 2-7, 10-2 and 10-7

lrregular Past Participles

A Practice working with past participles. Fill in the blanks with the correct
participial form of the verb tn parentheses.

1. Peter was (balkee) to the hospital b an andbulance.

2. The (lose) woran could not revwenaber her wayy back howe.
=. The explovers had (fiwd) a shovter trade route.

4. rMany of the condos on the beach had (be) (breyy)

b‘(j very wcau:v% people.

5. Adfter the fight, Rocky had o (break) nose.

&. rnfortunately), the thief was net (catoh) on tine. He escaped.
. In some socleties, the (spenke) word Le worth @ Lot niore thaw the
(write) wordl.

2. By the tine Louis was 12, he had (ﬂg,) in an alrplane more

thawn any of his classmates.

9. The Jones had to put thelr dog to sleep after he had (bite) a
ceuple of children Lun the netghborhood.

10. Have You ever (ta ee) a Spanish class with Professor
Jeofrer

11, o Yot Like to eat (grind) beef?

12, Sorrp wcbooﬂg‘, has ever (teach) e that at sehool.

13, Sonie pecple are very worried about thelr privacy). They do not Lilke to be (see)

L putilic.

B. o back and look at each one of these sentences and determine what function each
of the past participles had. was it as awn adjective, a passive form, or a perfect form?

1. 2.

=. 4.




